o(d x) (um) for PV

Ratio

10?

o0 X) (um)

10

o(d x) for merged vertices (um)

101

........

1_ o o L4
[ = = E
SRR 1 7 G I A ] G 1.05F -

1.5 4 o E
: )
| R R RTE 0.95F -
L OAn:

So. (Ge\})03

UéIVI TT mKl—it-UéM origina-0

M_TT _mkFit-DOM_mod-127

—— D

—— D

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

M TT _mKFit-D

M~”mod_updated-127

—~ —~
£ £
3 3
2 ~ =
- = (7]
10°E = Q
- o) o
[ I3 §
I I o
Q
o
1 S P ) A S A o
Q
1S
10t 5
H =
M =
L >
. o 10f-
=S EE R E P 5

4.1: i T o o L4f
E H = = E
2B ; S S 1.05F
E : 2 2 E
1.5 AHR 1F
- 0.95F
0.5: TS L 0.{\:

10%FE

10

......

<.3F o i)
Eoob b T oI SR A i i ¢ 4 ] A A I i o ;
2E 24 o b ) 5
L] PP PR 1 B o1 R b A I £ 1
| [ : H, e
E 0.9 0.8ba

0(0 2) (um)

! 10 %, Gev)

o(d z) for merged vertices (um)

10°

10?

......

1 10

Sp. (G e\})o2



	Contents
	Page 1


